YORKSHIRE SECOND ELEVEN IN THE MINOR COUNTIES CHAMPIONSHIP <u>SEASON 1961</u>

FINAL TABLE

	Team	P	W	L	DWF	DLF	NC/Ab	Pts	PtPC
	Points awarded	-	10	-	3	1	-	-	-
1	Somerset 2nd XI	8	6	0	1	1	0	64	8.00
2	Oxfordshire	10	5	3*	2	0	0	59	5.90
3	Yorkshire 2nd XI	10	5	1	1	2	1‡	57	5.70
4	Buckinghamshire	10	5	2	1	2	0	55	5.50
5	Berkshire	10	4	1*	2	3	0	52	5.20
6	Cheshire	10	4	3*	2	0	1‡	51	5.10
7	Staffordshire	12	5	3*	1	1	2‡	81	5.08
8	Warwickshire 2nd XI	8	3	0	1	3	1	38	4.75
9	Hertfordshire	10	4	3*	0	2	1	47	4.70
10	Suffolk	8	3	2	0	2	1	34	4.25
11	Lancashire 2nd XI	10	3	3*	1	3	0	39	3.90
12	Shropshire	8	3	4	0	1	0	31	3.87
13	Bedfordshire	10	2	3*	3	1	1	35	3.50
14	Cambridgeshire	8	2	3	2	1	0	27	3.37
15	Durham	12	2	2	4	1	3	39	3.25
16	Dorset	10	2	3	2	2	1	30	3.00
17	Devon	10	1	5†	4	0	0	28	2.80
18	Wiltshire	10	2	5	1	1	1	26	2.60
19	Lincolnshire	12	2	5	1	2	2	29	2.41
20	Norfolk	12	2	7	2	0	1	28	2.33
21	Northumberland	10	0	2*	4	2	2‡	21	2.10
22	Cornwall	8	1	3	1	3	0	16	2.00
23	Cumberland	8	0	3	1	4	0	7	0.87

On the table above

* First inns pts (3) in one match lost

† First inns pts (3) in two matches lost

‡Two pts for a tie on first inns in one match

Column key

Total Points (Pts)

DWF – Drawn match but ahead on first innings

DLF - Drawn match but behind on first innings

Percentage of possible points (PtsPC)

Order in the table

Position of teams in the final table is determined by the better percentage of possible points

FINAL AVERAGES – BATTING AND FIELDING

Player	M	I	NO	TR	HS	Ave	100	50	Ct/St
G Boycott	7	11	3	337	156*	42.12	1	1	6
J C Balderstone	5	7	1	217	87	36.16	ı	2	4
J P G Chadwick	10	10	1	401	59	26.73	ı	1	3
J H Hampshire	10	16	0	395	73	24.68	ı	3	9
N B Whittingham	2	3	0	63	51	21.00	ı	1	-
M J Smedley	6	9	0	187	83	20.77	ı	1	3
P J Kippax	8	13	1	231	54	19.25	ı	1	4
R A Hutton	3	5	0	63	49	12.60	ı	-	-
D Wilson	7	8	1	88	32	12.57	ı	-	5
A G Nicholson	5	8	1	85	27	12.14	ı	-	1
K Gillhouley	2	4	0	44	31	11.00	ı	-	-
E I Lester	9	11	0	106	20	9.63	ı	-	3
P R Illingworth	4	5	2	27	15	9.00	ı	-	2
D A Sullivan	10	12	2	82	34*	8.20	ı	-	2
G Hodgson	5	8	2	48	16*	8.00	-	-	3/6
E J Sutton	3	3	1	11	10	5.00	-	-	7/3
M Ryan	2	3	3	25	18*	-	-	-	-

ALSO BATTED

Player	M	I	NO	TR	HS	Ave	100	50	Ct/St
J K Harrison	1	1	0	31	31	31.00	-	-	-
G Boothroyd	1	2	1	27	23*	27.00	-	-	2
W B Stott	1	2	1	27	19*	27.00	-	-	-
D A Pullan	1	1	0	8	8	8.00	-	-	1/1
B C Moor	1	1	0	6	6	6.00	-	-	-
R L Feather	1	1	0	5	5	5.00	-	-	2
J S Waring	1	1	1	1	1*	-	-	-	1
D M Adams	2	2	0	0	-	-	-	-	-
R K Platt	1	1	0	0	-	-	-	-	-
M C Fearnley	1	-	-	-	-	-	-	-	-
A G Hatton	1	-	-	-	-	_	-	-	-

FINAL AVERAGES – BOWLING

Player	O	M	R	W	BB	Ave	5wI	10wM
R K Platt	31	15	52	6	4/43	8.50	1	-
D Wilson	390	124	486	47	7/22	10.34	4	2
D M Adams	15	4	40	3	2/17	13.33	1	-
K Gillhouley	51	11	131	9	6/36	14.55	1	-
P J Kippax	189	66	529	34	8/70	15.11	3	1
M Ryan	37.1	5	82	5	4/40	16.40	ı	-
D A Sullivan	221.1	81	466	27	5/44	17.25	2	-
A G Nicholson	89.4	33	160	9	5/13	17.77	1	-
P R Illingworth	49	7	164	4	3/13	41.00	-	-

ALSO BOWLED

Player	О	M	R	W	BB	Ave	5wI	10wM
R A Hutton	18	8	41	2	2/16	20.50	-	-
J H Hampshire	10	1	47	2	2/46	23.50	-	-
J A Waring	12	0	60	2	2/60	30.00	-	-
A G Hatton	21	5	62	1	1/51	62.00	-	-
J P G Chadwick	21	0	72	0	-	-	-	-
M C Fearnley	18	9	28	0	-	-	_	-
J C Balderstone	7	2	24	0	-	-	-	-

LINE SCORES OF MATCHES PLAYED

- v Lincolnshire (Memorial Park, Mirfield) 10 & 11 May 1961 (Toss unknown) Yorks 269 (J H Hampshire 65, J C Balderstone 61, J P G Chadwick 54; G R L Drakes 3/29, J Lawrence 3/60, H M A Cherry-Downes 3/80) & 138/4d (J H Hampshire 64) beat Lincs 202 (P J Kippax 8/70) & 141 (K Gillhouley 6/36, P J Kippax 2/56 [and match figs of 10/126]) by 64 runs
- v Cheshire (Studley Rd, Ripon) 5 & 6 June 1961 (Toss unknown) Cheshire 286 (J A Sutton 75, F W Millett 71, J M Cownley 51; M Ryan 4/40, P J Kippax 4/83) & 16/1 beat Yorks 186 (J C Balderstone 87; R J Digman 4/71) & 115 (R J Digman 8/37 [and match figs of 12/108]) by nine wkts
- v Lincolnshire (Augusta St, Grimsby) 7 & 8 June 1961- (Toss unknown) Yorks 181 (N B Whittingham 51; J Lawrence 5/56) & 11/1 drew with Lincs 259 (B Swift 83; D A Sullivan 5/75)
- v Durham (Gargrave CC) 19 & 20 June 1961 *Durham 67 (P R Illingworth 3/13, P J Kippax 3/14) & 84 (P J Kippax 6/28) lost to Yorks 178 (J H Hampshire 73; J M Watson 5/44, C W Leach 3/45) by an inns & 27 runs
- **v Durham (Blackfyne, Blackhill, Consett) 19 &20 July 1961** *Yorks 132 (C W Leach 6/47) & 163 (M J Smedley 83; M J Tate 5/60, C W Leach 4/28 [and match figs of 10/75]) beat Durham 107 (A G Nicholson 5/13, D Wilson 3/29) & 155 (D A Sullivan 5/44, D Wilson 4/37) by 33 runs
- v Northumberland (Langwell Cres, Ashington) 24 & 25 July 1961 *Northumberland 301/6d (R W Smithson 138*; D Wilson 3/87) & 109/2d drew with Yorks 261 (J P G Chadwick 88; J M Wale 3/63) & 50/5 (J M Wale 3/23)
- v Cheshire (Gorse Hall Rd. Dukinfield) 2 & 3 Aug 1961 (Toss unknown) Cheshire 123 (D Wilson 6/46) & 126 (D Wilson 5/46 [and match figs of 11/92], R K Plat 4/40) drew with Yorks 123 (G Boycott 62; M J Davis 4/33, F W Millett 3/28) & 61/0

- v Cumberland (Fitz Park, Keswick) 14 & 15 Aug 1961 (Toss unknown) Yorks 150 (T Thompson 5/51, J H Millican 3/39) beat Cumberland 88 (D Wilson 4/29, A G Nicholson 3/16, D A Sullivan 3/24) by 62 runs (There was no play on the first day, so a single inns match was arranged)
- v Cumberland (Duke's Park, Bridlington) 21 & 22 Aug 1961 (Toss unknown) Cumberland 171 (G A Edrich 62; P J Kippax 5/65, D Wilson 3/46) & 126/5 (R Talbot 51; D Wilson 3/48) drew with Yorks 321/5d (G Boycott 156*; T Thompson 3/71)
- v Northumberland (Duke's Park, Bridlington) 23 & 24 Aug 1961 *Yorks 195 (P J Kippax 54; P D Brodrick 3/43, K Norton 3/56) & 121 (J P G Chadwick 59; P D Brodrick 5/37, G K Knox 3/17) beat Northumberland 164 (G K Knox 71; D Wilson 5/65, D A Sullivan 4/30) & 98 (D Wilson 7/22 [and match figs of 12/87]) by 54 runs

CAREER FIGURES AND BIOGRAPHICAL DETAILS (WHERE KNOWN) OF PLAYERS WHO MADE THEIR DEBUTS IN 1961

479) Anthony George HATTON – Born 25 March 1937, Whitkirk, Leeds

He was a LH batsman and RA Fast bowler

First-class debut – v Kent at Gravesend on 25 & 26 May 1960 (County Championship) Yorks career – 1960-1961

His highest first class score (4*) came in the County Championship game against Northants at Bramall lane, Sheffield on 28-31 May 1960 His best first-class bowling figures (2/27) came in his debut match above.

1st Class Matches	Inns	Not Outs	Total Runs 4	Highest Score 4*	Average -	100s	50s	Ct/St
2nd XI Championship	Inns	Not Outs	Total Runs	Highest Score	Average -	100s	50s	Ct/St
2nd XI Minor Counties Matches	Inns	Not Outs	Total Runs	Highest Score	Average	100s	50s	Ct/St
1	-	-	-	-	-	-	-	-

1st Class Matches	Overs	Maidens	Runs	Wickets	Average	Best Figures	5wI	10wM
	69	12	202	6	33.67	2/27	-	-
2nd XI Championship	Overs	Maidens	Runs	Wickets	Average	Best Figures	5wI	10wM
	31	8	61	1	61.00	1/61	-	-
2nd XI Minor Counties	Overs	Maidens	Runs	Wickets	Average	Best Figures	5wI	10wM
Matches	21	5	62	1	62.00	1/62	-	-

He was educated at Roundhay School and palyed club cricket for Whitkirk & Colton (both Leeds CL at the time), North Leeds (Airedale-Wharfedale Senior CL) and finally Castleford (Yorkshire CL)

480) Richard Anthony HUTTON – Born 6 Sept 1942, Pudsey, W Yorks

He was a RH batsman and RA medium-fast bowler

Test debut – v Pakistan, Lord's, 17-22 June 1971 (2nd Test)

First-class debut – v Essex, Fenner's (for Cambridge Un) on 5-8 May 962 (University Match)

Yorks career - 1961-1974

His highest Test Match score (81) came against Indian at the Oval on 19-24 Aug 1971 (3rd Test)

His best bowling figures in Test Matches (3/72) came against Pakistan at Headingley on 8-13 July 1971 (3rd Test)

His best first class score (189) came in the Tourist match against Pakistan at Bradford PA on 9-11 June 1971

His best first-class bowling figures (8/50) came against Derbys, for Cambridge U, at Burton-on-Trent on 29 June to 2 July 1963 (University Match)

His best List A score (65) came in the match against Surrey at the Oval on 27 July 1969 (Player's County League)

His best List A bowling figures (7/15) came against Worcs at Headingley on 29 June 1969 (Player's County League)

(This remains a record for Yorks CCC in List A Matches)

CAREER STATISTICS - BATTING & FIELDING

Test Matches	Inns	Not Outs	Total Runs	Highest Score	Average	100s	50s	Ct/St
5	8	2	219	81	36.50	-	2	9
1st Class Matches	Inns	Not Outs	Total Runs	Highest Score	Average	100s	50s	Ct/St
281	410	58	7561	189	21.48	5	29	216
List A Matches	Inns	Not Outs	Total Runs	Highest Score	Average	100s	50s	Ct/St
111	83	25	1085	65	18.70	-	4	28
2nd XI Championship (For Surrey)	Inns	Not Outs	Total Runs	Highest Score	Average	100s	50s	Ct/St
2	3	0	26	18	8.67	-	ı	1
2nd XI Minor Counties Matches	Inns	Not Outs	Total Runs	Highest Score	Average	100s	50s	Ct/St
6	8	0	113	49	14.12	-	-	2

BOWLING

Test Matches	Overs	Maidens	Runs	Wickets	Average	Best	5wI	10wM
						Figures		
	123	27	257	9	28.55	3/72	ı	-
1st Class	Overs	Maidens	Runs	Wickets	Average	Best	5wI	10wM
Matches						Figures		
	5706.5	1323	15008	625	24.01	8/50	21	3
List A Matches	Overs	Maidens	Runs	Wickets	Average	Best	4wI	5wM
List A Matches	Overs	Maidens	Runs	Wickets	Average	Best Figures	4wI	5wM
List A Matches	Overs 644.5	Maidens 102	Runs 3137	Wickets 133	Average 23.58		4wI 3	5wM
List A Matches 2nd XI Championship						Figures		5wM 1 10wM
	644.5	102	3137	133	23.58	Figures 7/15	3	1

2nd XI Minor Counties Matches	Overs	Maidens	Runs	Wickets	Average	Best Figures	5wI	10wM
	95.4	28	253	8	31.62	2/16	ı	-

He was educated at Repton School and Cambridge U. He gained his Yorks cap in 1964. In 1971/72, he toured Australia with the Rest of the World. He edited the Cricketer magazine for eight years and was President of the Club in 2017 and 2018.

481) **Anthony George ("Tony") NICHOLSON** – Born 25 June 1938, Dewsbury, W Yorks Died 3 Nov 1985, Harrogate, aged 47

First Class debut – v Essex, Westcliffe-on-Sea, Essex, 7-10 July 1962 Yorks career – 1961-1975

His best first-class score (50) came in the County Championship game against Middx at Lord's on 27-30 July 1974

His best first-class bowling figures (9/62) came in the County Championship game against Sussex at Eastbourne on 23-25 Aug 1967

His highest List A score (15*) came in the game against Warwicks at Edgbaston on 25-28 May 1968 (Gillette Cup)

His best List A bowling figures (6/27) came in the game against the Minor Counties North at Acklam Park, Middlesbrough on 20 May 1972 (Benson & Hedges Cup)

1st Class Matches	Inns	Not Outs	Total Runs	Highest Score	Average	100s	50s	Ct/St
283	268	126	1669	50	11.75	-	1	85
List A Matches	Inns	Not Outs	Total Runs	Highest Score	Average	100s	50s	Ct/St
120	46	22	155	15*	6.45	-	-	16
2nd XI Championship	Inns	Not Outs	Total Runs	Highest Score	Average	100s	50s	Ct/St
7	4	1	40	19	13.33	-	-	2
2nd XI Minor Counties Matches	Inns	Not Outs	Total Runs	Highest Score	Average	100s	50s	Ct/St
24	19	4	203	38*	13.53	-	-	7

1st Class	Overs	Maidens	Runs	Wickets	Average	Best	5wI	10wM
Matches						Figures		
	7901	2390	17371	879	19.76	9/62	40	3
List A Matches	Overs	Maidens	Runs	Wickets	Average	Best Figures	4wI	5wM
	977	182	2951	173	17.05	6/27	3	4
2nd XI	Overs	Maidens	Runs	Wickets	Average	Best	5wI	10wM
2nd XI Championship					8	Figures	5wI	10wM
	Overs	Maidens 41	Runs 355	Wickets 11	Average 32.27		5wI	10wM -
					8	Figures	5wI 1 5wI	10wM - 10wM
Championship	141	41	355	11	32.27	Figures 5/92	1	-

He spent five years in Rhodesia (now Zimbabwe) before starting with Yorks and he is generally felt to have the best opening bowling partner that Fred Trueman had. He was particularly prolific in the hat-trick of titles seasons in the 1960s. He never played international cricket but had been selected for the 1964/65 tour of South Africa but had to withdraw through injury. His was capped in 1963 and his benefit season in 1973 raised £13,214 (or £160, 863.61 in 2020)

He began his cricket career with Hanging Heaton (Bradford CL) and was later the professional with Marske CC (North Yorks & S Dirham CL).

482) David Anthony PULLAN – Born 1 May 1944, Farsley, Pudsey, W Yorks.

He was a RH batsman and WK

First-class debut – v Warwicks at Trent Bridge, 2-5 May 1970, playing for Notts (County Championship). He did not play any first-class cricket for Yorks. Yorks career – 1961-1967

His best first-class score (34) came in the County Championship match against Warwicks at Trent Bridge on 9-12 Sept 1972 His highest List A score (18*) came in the match against Worcs at New rd on 7 June 1970 (John Player League) His career-best score (56*) came in the Minor Counties Championship match against Cheshire at the Oval, Wallasey on 6 & 7 July 1966

CAREER STATISTICS - BATTING & FIELDING

1st Class Matches	Inns	Not Outs	Total Runs	Highest Score	Average	100s	50s	Ct/St
95	106	36	613	34	8.75	_	_	207/27
List A Matches	Inns	Not Outs	Total Runs	Highest Score	Average	100s	50s	Ct/St
49	18	6	38	18*	3.16	-	-	43/2
2nd XI Championship (For Notts)	Inns	Not Outs	Total Runs	Highest Score	Average	100s	50s	Ct/St
	Inns 31				Average 9.07	100s	50s	Ct/St 34/9
(For Notts)		Outs	Runs	Score	8	100s - 100s		

He moved to Trent Bridge at the end of the 1969 season and was capped by Notts in 1971. He had received a second eleven cap for Yorks in 1966.

483) **D A SULLIVAN** – No biographical details are available for this player. He played all his games for Yorks between 1961 and 1963

His career-best highest score (42*) came in the second eleven championship game against Northants at Northampton on 3 & 4 May 1961 His career-best bowling figures (5/44) came Minor Counties Championship game against Durham at Blackfyne, Blackhill, Consett on 19 & 20 July 1961

2nd XI Championship	Inns 8	Not Outs	Total Runs	Highest Score 42*	Average	100s	50s	Ct/St
2nd XI Minor Counties Matches	Inns	Not Outs	Total Runs	Highest Score	Average	100s	50s	Ct/St
19	20	3	164	37	9.64	-	-	7
2nd XI Friendly Matches	Inns	Not Outs	Total Runs	Highest Score	Average	100s	50s	Ct/St
1	2	0	10	9	5.00	-	-	1

2nd XI Championship	Overs	Maidens	Runs	Wickets	Average	Best Figures	5wI	10wM
	110	29	278	15	18.53	4/46	-	-
2nd XI Minor Counties	Overs	Maidens	Runs	Wickets	Average	Best Figures	5wI	10wM
Matches	382.2	137	826	50	16.52	5/44	2	-
2nd XI Friendly	Overs	Maidens	Runs	Wickets	Average	Best Figures	5wI	10wM
Matches	9.4	2	49	1	49.00	1/30	-	-

484) John Shaw WARING – Born 1 Oct 1942, Ripon, N Yorks

He was a RH batsman and RA fast-medium bowler

First-class debut – v Northants, Northampton, 4-7 May 1963 (County Championship) Yorks career – 1961-1966

His highest first-class score (26) came in the County Championship game against Middx at Lord's on 4-7 June 1966 His best first-class bowling performance (7/40) came in the County Championship game against Lancs at Headingley on 28-30 May 1966 His career-best score (67) came in the Minor Counties Championship game against Yorks at Savile Park, Castleford, on 6 & 7 July 1970

1st Class Matches	Inns	Not Outs	Total Runs	Highest Score	Average	100s	50s	Ct/St
29	29	15	152	26	10.85	-	-	17
List A Matches	Inns	Not	Total	Highest	Average	100s	50s	Ct/St
		Outs	Runs	Score				
1	1	1	1	1*	-	-	-	-

2nd XI Championship	Inns	Not	Total	Highest	Average	100s	50s	Ct/St
(For Surrey & Notts)		Outs	Runs	Score				
5	3	1	64	38*	32.00	-	Ī	2
2nd XI Minor Counties Matches	Inns	Not	Total	Highest	Average	100s	50s	Ct/St
(For Yorks & Cumberland)		Outs	Runs	Score				
(

1st Class	Overs	Maidens	Runs	Wickets	Average	Best	5wI	10wM
Matches						Figures		
	460.2	110	1251	55	22.74	7/40	2	1
List A Matches	Overs	Maidens	Runs	Wickets	Average	Best	4wI	5wM
						Figures		
	4	1	11	0	-	-	-	-
2nd XI	Overs	Maidens	Runs	Wickets	Average	Best	5wI	10wM
2nd XI Championship	Overs	Maidens	Runs	Wickets	Average	Best Figures	5wI	10wM
	Overs 72	Maidens 14	Runs 217	Wickets 5	Average 43.40		5wI -	10wM -
					8	Figures		10wM - 10wM
Championship	72	14	217	5	43.40	Figures 3/72	-	-

John Waring only tended to play for Yorks when other players were not available. In 1967, he had games for Surrey, Notts & Warwicks and palyed for Cumberland in the Minor Counties Championship from 1970-1973. He played club cricket for Dishforth (now defunct), Thirsk and Ripon (both York Senior CL). Later, he played for Bingley (Bradford CL) and Darlington (North Yorks & S Durham L).
